1 y=(x+ 2)%x + 3)°
X
3y = ———
YT R - ax
5, y = sin(cos x)
7. y =xe '
9, y=tan4/1 —x
x
" y=
4 8 — 3x
13. y =sec 28
15, y=(1—x1)"
17. y == ¢™{(c sin x — cos x)
19, y =e"
21, 2y + Pr=x -4y
23, y=3/xtanx
2% xt=y(y+ 1)
SR )
(x—2)(x—3)
29, y = logio(x* — x)
3. y =Insinx — ; sin’x
33. y = sin(tan /1 + x3)
35, y = cot(3x* + 5)
37, y = cos*tan x)
Jx + - x)°
3. y = x+1(2 : x)
(x+3)
4. y = xsinh(x?)
43. y = In(cosh 3x)
45, y = cosh“(sinh x)
47. Iff(x

CHAP 3 DIFF

1-46 O Calculate y'.

1/(2x - 1)5 ﬁnd f”(O)

2y=3Yt T
ex
4, y= —
s
6. y = sin"'(e”)
8 y=x'e"
1
0. y=——F——"T"T
Y sin(x — sin x)
1\
12 y={x+—>3
y X /)
1 y= -2/
16. y = In(csc 5x)
18. y = In(x%e*)
20.’ y= 5xunx
22, xtany=y—1
24, y = sec(l + x%)
26, y=1/x+ Jx
28. y = /sin Jx
30, y = ¢ + cos(e”)
2. y= arctan(arcsin Vx)
38 xe?=y-—1
(x + A)*
6 y=—F""1
TINEY
M. y— sin mx
X
4. y = In | csc 3x + cot 3x |
42. y == xcusx
xt—4
m,oy=1
AR T
48,

y = x tanh™'y/x

48, If g(r) = csc 2t, find g”(—=/8).
49, Find y"if x° + y® = L.
50. Find fO(x) if f(x) = 1/(2 — x).

51. Use mathematical induction to show that if f(x) = xe* then
FP0) = (x + n)e”.
3

52. Evaluate hm———
0 tan®2t

§3-57 O Find an equation of the tangent to the curve at the|
point.

B y=——> @1
5. Vx+Jy=3 41
55, y=tanx, (/3,+/3)

56. y =x4/1+ x?%, (1, JZ)

57, y=1In(e* + ¢*), (0,1n2)

&% 58. If f(x) = xe™, find f'(x). Graph f and f' on the same si
and comumnent.

59, (a) If F(x) = x+/5 — x, find f'(x).
(b) Find equations of the tangent lines to the curve
y = x+/5 — x at the points (1, 2) and (4, 4). STt o
(c) Ilustrate part (b) by graphing the curve and ungenl h
(d) Check to see that your answer to part (a) is reasonablé
comparing the graphs of f and f'.

60. (a) If f(x) = 4x — tan x, —m/2 < x < 7/2, find f’ and fir2
(b) Check to see that your answers to part (a) are reaso ﬂf’ i
by comparing the graphs of f, /', and f".
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61. At what points on the curve y = sin x + cos x, 0 < x <47
the tangent line horizontal?

62. Find the points on the ellipse x* + 2y* = 1 where the taﬂg""ﬁ?'
line has slope 1. ;

63. If f(x) = (x — a)(x — b)(x ~ ¢), show that
i 1 1 1
f(x) —x—a+x-—b+x—c

64. (a) By differentiating the double-angle formula
cos 2x = cos’x — sin’x

obtain the double-angle formula for the sine functOM



